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1 21d SAHE A4 Addie] FotRA|, d-e-Hls5
ZFoA F7t

Q Fo}A(7.6%), TF-0IE5(6.0%), F(52%), 7(4.2%), BIEET7.9%),
AH141%), SA(7.9%), T2 A=HI, 7HE8]7, A7HEH s 7190
* &S0tX[10.8%, H|F6.1%, |F54%, F747%, HlF=11.2%, &HEA11.9%, |H7.5%

o H|F28.0%, |F19.9%, HIF=3.2%, tH2tA31.7%, SH11.5%
o S O0LX[4.6%, H|FF22%, F78.3%, LEtAH1.3%, |H2.0%

= , , A o v
T 20 21 52 SUECH
=58 YA Fogmy | U] | Foym) | S8 | Zogmy | BEE] | Ao
sotx| (Heme) | 3512 | 2376 | 3781 | 2619 | 269 | 244 76 | 103
SHRH|SR(HI00k | 1,195 | 1,049 | 1266 | 1,121 72 72 6.0 6.9
S 2 (HA100ke) 728 | 599 | 766 | 642 38 43 52 7.2
? (") 809 | 687 | 843 | 713 34 26 4.2 3.8
HI S = (%12/100k) 276 | 263 | 298 | 285 22 23 7.9 86
H 'k (2/107H) 949 | 908 | 1083 | 1,040 | 133 | 132 | 141 | 145
g A (Y/ke) 1216 | 1,162 | 1312 | 1,257 9% 95 7.9 8.2
< 2 7dAzE A Fo] >
() (&)
4,000 &3 2000
L3512
(5,225 ]
3,000 m 1,500
_____ b @ ___o{37)
O Fo S— ~ e o S O-mmmmmmmmm o-""
2,000 B ? 1,000
e e Q-eemmnnees 0 eiena 0o Qe ap
D o —o0—9
1.0 o——o— 75—/" N 726 @ o

2 $(100kg)

20154 20164 20174 20184 20194 20204 20214
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1219 248 &5 Adde F994$ 5 57 53 371,
o
= y -

9%), Bl &-E(44.9%), A (658.0%),
TO®2 FU}
(

« SOFA| AEX| 74 (M @/ote| (=) 6~770€): (20) 4,295 — (21) 4,550 (5.9%)
« Fa TR X I (H 2/ 600kg): (20) 5,446 — (21) 6,281 (15.3%)
« X &R 7HA (H @/110kg): (20) 353 — (21) 398 (12.7%)
« Algt MX[I7HA (/52 1070): (20) 1,105 — (21) 1,796 (62.5%)
~ FH AT (E /A kg): (20) 1,326 — (21) 1,474 (11.1%)
A

* BX: sHGHMXF, SMUEEEEIY

O Hi(85%)E AFHI(3.6%)7F F5U0.6%) 2T EAB0%p) F5st] 7,
A Heor AR R i

—]—-U_]__

2HE, SERAMAER) (20) 2,088,789 — (21) 2,034,385 (-2.6%)

_ﬁ_
« P ZETHA(F/AMS X|kg, =8): (20) 10,727 — (21) 11,649 (8.6%)

T2 '20 21 HMACH|(2=4=2))
XX 20 | &2 5 |2t | a40 | 2 5 [ 20| =8 |z2E9
SIRHA 2 (Mel/of2])] 3,184 1,367 518 3,351 1,410 563 46 89
steH| S (M&/of2])] 9,387 1,190 58 | 10,215 1,425 292 235 406.9
= < (™e/mlz)| 4,789 377 -574 5,435 682 —231 343 =
o A (™g/olal)| 10,657 3,811 2,661 10,721 3,651 2,434 227 -85
H & = (M&/ol2]) 362 63 47 408 83 68 21 449
A 2F A (f/ol2])] 31,153 3,818 2,590 | 51,813 | 20,888 | 19,631 17,041 658.0
= A (/okz])] 2,002 125 38 2,225 155 65 27 69.9
A 5 = E49 -], « =32 = 559 - AlSH|
< HZ 74zt €5 Fo] >
(Mg (&)
3,000 Y 20,000
1,500 10,000
[ 53 )
_—O—— - —o——0 gy 65 |
0 O O o —0 0
129 38 ) @
<

-1,500 -10,000
20154 20164 20174 20184 20194 20204 20214
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S GEHEECTRCENETTED S A

1 | SOX] L]

] 21@ FolA ulEld Aik= 3781 PeE HAWoH] 2694 Y
(7.6%) 71 AAP(HAE) st R ASH|(ALRRH]) sl 719
H AR HAE(%): (20) 748 — (21) 72.9 (-1.9%p)
o WAL Ui BHALE (R/kg, ALE B B]): (20) 384 — (21) 433 (12.9%)

@992 99 g £59L 5630 d o2 AdH 463U (8.9%)
7t oA B =3 AATHE sl 719
« BoR| MXZIH(HE/RR], 3 6~THET, ) (20) 4295 — (21) 4550 (5.9%)

o BRI MR 7HA (M /B00kg, =) (20) 6,114 — (21) 6,445 (5.6%)

[E 1] obA shel® A2u 9 G¢uA$ nhew o4
(9 Db/, %)

Sobx| &ty WAL Foly

T+ =2 X Z2=0| | AlSH]| A= PN
bH ST = = ol | & 5 | =T

adEl | geu | T (b) (o) (a-c) | (a-b
'20 3512 2376 3,184 2 667 1817 1,367 518
29 3,781 2619 3,351 2787 1,940 1,410 563
Ny | B 269 244 167 120 124 43 46
el | sz 8 76 10.3 5.2 45 6.8 3.1 8.9

[Z28 1] FolA] vlElF AAHH] 2 S H AL nlgd 44
() AZH| MAH| == AS a2l (Fig)

4,000 3,200

3,000 2,400

(1,367 1410 S

an = 1,080 %
A —O0—
1,000 V —O— e 563 00
266 234 e 303

0 0

2,000

-192
-1,000 -800
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1213 3$H1S$ ALE|(AA] 100kg)= 1,2661L o2 A dthH]
7274 9(6.0%) =7}, 718" 2 AL gH] A5 7)<l

« SOFA| LX|[THA (M E/ote], =2 6~7EE, 537): (20) 4,295 — (21) 4,550 (5.9%)
1): (20) 421 — ('21) 471 (12.0%)

w B FE AR (R/kg, AHRRE

2] ¥9-H 59 100kgT A9} vl 4

(TH9): A9 /100kg, A9/ vHel, %)

st2H| S A AtH| st 82 oM
T+ _E_ = Aol Al’ o HI A = Z= ol
Al AFH ST H = OEIH|_H:|| a = =T Y
g Age | Y@ | w | TG | @ | (b
20 1195 1049 | 9387 | 9329 | 8196 | 1,190 58
21 1.266 1,121 | 10215 | 9923 | 8790 | 1425 | 292
g | BY 72 72 828 504 | 594 | 234 | 235
tEl | szs 6.0 6.9 88 6.4 73 | 197 | 4069
¥ HFS AL 1 (20) 729 — (21) 721 (-1.1%)
[Z2¥ 2] 3$1S$ 100kgd A ¢} vl 3 =94
(&8 Aol w— A —O— AS 20 =
1,962
1,600 2,000
1,200 1,500
(1,17 @D |
800 1,000
o
400 316 S 500
133
58
0 :
-57 -76
-400 -500




1213 $% A4 A 100kg) = 7661 o2 Ad )] 383 Y (5.2%)
7t 7150 2 ARRH] sl 71

» F2(ZFH7|) =SotX| MX|7HA(H /o], s): (20) 911 — (21) 999 (9.7%)
H| S & i efAt=R(Rl/kg, AR R 2]): (20) 421 — (21) 471 (12.0%)

1 5% vEld 592 §5% 718 o2 Al -574-1 YA A
239 -231dYe R AR 1 4
* 2 HEIIA(YH/AMS XI=kg, =8): (20) 10,727 — (21) 11,649 (8.6%)
[£ 3] §% 100kgT A4 ¢} viald A
(H9): 9 /100kg, D /9te, %)
== g 5% 294
= 2 | 549 | ALRH g PP P
adEl | geu | T (b) (o) (a-c) | (a-b
20 728 599 4789 5,363 4412 377 =574
21 766 642 5,435 5,666 4753 682 -231
Ay s 38 43 646 303 342 305 343
el zue 52 72 | 135 57 77 | 808 -
% FF AIFLSE - (20) 630 — (21) 621 (-1.4%)
[2¥ 3] &% 100kgd AHH] ¢} vl =4
(=) Z| | =0 A5 240 (=2
900 1,500
600 1,000
300 500
0 0

-207 -174
-300 =231 -500

-492
-602 -574

-600 -1,000
-953

-900 -1,500




17213 23 7 A= 843U 02 % kﬂﬂ]‘ﬂ] 349 (4.2%) Z7%, vl
A A 9 ARH], AR sl 719l

« Lbg2E(2/ote]) @ (20) 9,392 — (21) 9,351 (-0.4%)
= s dletAtE (f/kg, AHRRE]): (20) 488 — (21) 531 (8.7%)
oo A 7He SA|ZE (3.8%) X =@l EHF 45 (3.9%)

1 A ve3d €59< 243438902 Aduin] 22730 U(-8.5%) 2,
ol ARFHIZE FHUET A (3.0%p) A3t 71<
, SEFMAEFESR): (20) 2,088,789 — ('21) 2,034,385 (-2.6%)

[ 4] $F 23 A4 ¢ 24 vtgF 94
(22, Ad/9kE, %)
23 A Abd] dAx oy
T = 20l | AlSH]| A S | Ao
A ST =H = ol HIH T = T =
Sl Aenl | T (b) () ' ad | Gl
20 809 687 10,657 7,996 6,846 3,811 2,661
21 843 713 10,721 8,287 7,070 3,651 2,434
A~ R A) 34 26 64 291 224 -160 =227
HEl | zze 42 38 06 36 33 | -42 | -85
[Z98 4] ¥ F AAH g Z A vl g A
@) Za| M —O— 25 a4l (@)
1,500 O— — 00— ~ ~ 4,000
an @ @ e o 2
1,200 - - - - - 3,200

2,661
2,434

900 2,400

600 1,600

300 800

0 0
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0 HissE &4l

1 213 ¥1S-E AA|(AA 100kg) = 298D o2 A diH] 22349(7.9%)
371 APEH] 9 7hSn] A 719
» A= Hi AR (R /kg, AFR R E]): (20) 571 — (21) 616 (7.8%)
o HF= JHSH[(H/ 4 #100kg): (20) 58,510 — (21) 60,399 (3.2%)

] HSE nEd &5 8 goz HAddd] 213 Y 44.9%) 371,
H| &= AR 7EE s 7]
F 7 (M &A/110kg, =8): (20) 353 — (21) 398 (12.7%)

« H|= 57|

4>

[£ 5] Hl&< 100kg? AAH| ¢} ml <A
(H9): A /100kg, AL /wkE], %)

NEP H S E +olA
T = s | ALSH| [gum] | & § | 59
a8l | Agul | T B | T " ad | Gl
20 276 263 362 315 299 63 47
01 298 285 408 340 305 83 68
Ny | BY 20 23 46 o5 o5 20 o1
el | s24s 79 86 126 78 85 300 44.9
[Z2"] 5] ¥]S & 100kgT AL 9} npgld =< A
(Z8) (M)
1,000 | MAH|  —O— AS asel 50
800 m 120
o «>®
600 97 «D 90

r 86 ?/o
400 60

48 47 68

200 30

)

0 0
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AR AH|

1 213 A 10703 A4k)= 1,0839 0.2 Adtiv] 1339(14.1%) 371,

7

b

2
A AR7E Aol 719

R ALEH]" Gl 71

of2|) MX|Z7hZ()/otz]

A 2=

1): (20) 1,038 — ('21) 1,694 (63.3%)

» MEtE B AR (R/kg, AFRE E]): (20) 408 — (21) 457 (11.9%)

0H Yo = AAhy] 174 Y (658.0%) =7},

=t 1074, =s&): (20) 1,105 — (21) 1,796 (62.5%)

[ 6] A 1070 ABAH & A3A vtgjd =4
(9 /1070, /7], %)
e MEA FoY
T = 5 | ASH [oum | 2 § | 59
adel | Zoul (a) (b) =0 | (a-c) | (a-b
'20 949 908 | 31,153 | 28563 | 27,335 | 3818 | 2,590
21 1,083 1,040 | 51,813 | 32,182 | 30,925 | 20,888 | 19,631
g | BU 133 132 | 20660 | 3619 | 3590 | 17,070 | 17,041
HE sz | g4 145 | 663 | 127 | 131 | 4471 | 6580
[198 6] A 10713 AAH ¢ 4k&A v F 94
@ Al e M| —O— AS a0 (=
1,500 m T 24,000
ﬁ11,81l.
1,000 | 16,000
19,631
500 8,000
2,363 1,815
0 216 2019 0

-500

-8,000




7| |H 44l

1213 $4 kgd A= 1,3129 22 AdiH] 96U (7.9%) Z71,
ALEH] 8 7EERE gl 719
« RAE BIEAIR(//kg, ALREE]): (20) 461 — (21) 503 (9.0%)
o SH((Hota]) MX|Z7HA (/o] AR Z]): (20) 340 — (21) 514 (51.1%)

1 54 183 €592 65902 Adn) 279(69.9%) =71, =57
SZHANLSE 13 SA AANE sl 712

« FA IEMEATHA (Y dAkg, EL=FEEIH): (20) 1,326 — (21) 1,474 (11.1%)

(9): 91 /ke, 9/THE], %)

SH A A FA =AM

T T g B4 | ASH [ gum | & 5 | 59

= 238 | (a) (b) (o) (a-c) | (a-b

20 1216 | 1162 | 2002 | 1964 | 1877 125 38

21 1312 | 1257 | 2225 | 2160 | 2070 155 65

sy | B 96 95 203 196 193 30 07

I 7.9 8.2 1.1 10.0 10.3 236 69.9
[Z28 7] §A kgD AAAHH] ¢} wialgd F=A4

@ A WA —O— AS 240 ()

1,600 300

250
1,200

200

800 150

100

67

400

38 50

21

0 0

— E) —
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1 532 AR
1. gH-H2
Q FobA Aan] (mE )
(91 A2, %, %p)
‘ AF = 7 = E(2]) .
TE éc)) 12?5' 10~29 | 30~49 52?,5' %(b)ﬁ 2yl | ()
o At & H| 1,635 1,714 1,762 1,796 1,832 1,812 47.5 10.8
- SFAR 1,034 1,139 1,153 1,144 1,122 1,130 29.6 9.3
-E AR 562 525 546 607 632 612 | 161 | 90
- TMRALZ 39 51 63 45 77 69 1.8 79.1
o FE2elyl 60 9 79 78 57 64 | 17 | 76
o AR =H| 51 85 71 66 54 59 1.6 17.0
o XS] 52 101 89 69 44 5 | 15 | 83
o 5 7 | 213 289 272 258 208 228 | 60 | 7.
o izl 150 266 247 85 135 63 | 43 | 87
o 7|Et =8| 63 81 81 77 64 69 | 18 | 94
o5 %= 58 80 64 65 62 63 | 17 | 87
o telZolx} 32 4 25 45 35 B | 09 | 57
o EX|YAE 6 9 7 10 6 6 | 02 | 168
o Dg=SH| 32 21 17 17 43 3B | 09 | 95
o Z=xz|d| 8 9 11 16 11 11 0.3 37.8
o datpialyl 19 35 24 23 15 18 | 05 | -48
o 7|EfH| 34 45 42 38 32 3B | 09 | 22
& A A | 241 287 | 2790 | 2741 2596 | 2654 | 696 | 10
Rttt %23 | 2957 1,567 1,143 678 965 | 253 | 46
A= H| 178 192 190 179 157 167 4.4 —6.1
£ x| gofH| 36 40 41 36 25 30 | 08 |-179
2 A B 3547 | 6016 | 4588 | 4000 | 3456 | 3815 | 100 | 75
22220 36 69 42 31 31 34 3.1
AyulA-C) | 2376 | 2758 | 2748 | 2710 | 255 | 2619 10.3
MawlB-C) | 3512 | 5947 | 4546 | 4068 | 3424 | 3781 76
A E(%) 748 736 747 69.8 735 729 -19

_11_




O FSWAS AbgH (vhel)

) - FE e E(o) n
o= @ | "o | 1020 | s0~ag | 9N | B E | 2ael | b

o Ak = ol | 128 | 1262 | 1317 | 1258 | 1346 | 132 | 475 | 72
- sEAE 774 839 862 798 825 g27 | 297 | 69
-z A E 434 386 408 424 465 m8 | 161 | 32
- TMRALZ 29 37 a7 31 56 51 | 18 | 756
o +E A 45 66 59 55 42 | 17| 51
SOEE 38 63 53 46 40 48| 16| 143
o RS x| 39 74 66 48 3 41| 15| 58
0 5 7l 159 213 203 180 153 166 6 | 47
o Al 12 196 184 129 % 19 | 43 | 63
o 7|etx =l a7 60 60 54 47 51 | 18 | 69
05 % = 44 59 48 45 45 46 | 17| 63
o xtelZolxt 24 3 18 31 25 24 | 09| 32
o ExlgixtE 4 7 5 7 4 5| 02| 139
o D8 24 15 13 12 32 % | 09| 74
o ZmHaly 6 6 8 11 8 8| 03| 344
o Marpkals| 14 25 18 16 11 3| 05| -7
o 7|t 8 25 3 32 26 23 25 | 09 0
~ 7 1817 | 2082 | 2085 | 1913 | 1908 | 1940 | 696 | 68
xhe g 60 | 2177 | 117 797 498 708 | 252 | 19
A2 8| 133 141 142 125 115 122 | 44 | -85
£x gt 27 30 31 25 19 2 | 08| -197
& 2667 | 4420 | 3428 | 2860 | 2540 | 2787 | 100 | 45

) WA v ARSHlE FEd(21.1.1.~1231) 713k B8 HE TS A

Ab "R R (1)
™ = (20 100tz 5002 Ho sas
a) |} 10~29 30~49 ol A} o) (b/a)
o & % ¢ (A 3,184 3,694 3,476 3,324 3,310 3,351 52
- FaEsel 3,107 3,612 3,376 3,243 3,241 3,275 5.4
- So}x| Toj 2,623 2,872 2,825 2673 2,769 2767 55
- | 2 Ehoj 484 740 551 570 472 508 5.0
- Barzgol 27 51 31 22 23 25 56
- 7|E} £ 51 31 68 60 46 51 0.0
o 2ukt|(B) 1817 2,082 2,085 1913 1,908 1,940 6.8
o AMZH|(C) 2,667 4,429 3,428 2,860 2,540 2787 45
o & £ (AB 1,367 1612 1,391 1412 1,402 1.410 3.1
o & % o (AC) 518 736 47 464 770 563 89

_12_




< A48 (AA 100kgD)

(91 A, %)

AL T2 (21 )
T = (2ac)) 200k2] | 0 49 | sp_gg | 100°ERI | B @ | g(bj:';)%
oj gt of &t (b) -
o7t & 514 504 543 567 568 555 | 438 8.0
o Ab B | 420 449 468 463 423 446 | 35.1 6.1
- EFAR 243 301 296 280 226 264 | 2038 8.3
- = AR 68 85 79 65 75 74 5.8 9.1
- TMRALZ 109 63 93 118 121 108 85 | -07
o | 10 17 11 10 9 11 0.8 7.1
o welx 2| 6 10 7 5 6 6 05 | 112
o RtExH| 7 17 11 7 4 7 0.6 8.7
o & T 31 57 41 30 23 32 25 30
o isAlMy| 24 44 31 23 19 25 20 50
o 7IEtA 28| 15 21 15 15 14 15 1.2 29
o xtelFolxt 8 6 6 10 7 8 0.6 1.2
o EXYUXE 0 1 0 1 0 0 00 | 117
o 1Bl SH| 8 2 3 6 14 8 0.6 2.4
o Hizxaly| 2 3 3 2 1 2 0.1 15
o Matzals 5 6 6 6 3 5 04 | 54
o 7|Et8| B 4 11 6 3 2 4 03 | 162
= N 1,053 1,149 1,151 1,146 1,091 1,125 | 886 6.9
INFIES=E] 115 298 184 100 48 117 9.2 2.2
A2 g of| 26 28 26 25 23 24 19 | -64
EX| B4 5 5 4 3 2 3 02 | -326
g A @ 1,198 1,480 1,365 1273 1,164 1270 | 100 6.0
FoET0) 3 7 4 4 2 4 0.6
Z8|(A-C) 1,049 1,142 1,147 1,142 1,090 1,121 6.9
44| (B-C) 1,195 1,473 1,361 1,269 1,162 1,266 6.0
ol Al H B (kg) 779 778 764 791 786 782 0.4

_13_



O #HISS AgH (vhel)

(F%1: 44, %)
Ab 8 7 2 (2

2 = 20 I o0epe - 1E>ou+a)| o 7 sds
(a) |t 20~ 49 50~99 ol Al o) FAMH| | (b/a)

o 7t & 4,003 3917 4,148 4,483 4,463 4,341 438 8.4
o Al 2 H 3,271 3,494 3,574 3,658 3,322 3,484 35.1 6.5
- SEAIR 1,895 2,342 2,263 2217 1,780 2,060 20.8 8.7
- x A B 530 660 601 511 592 580 5.8 95
- TMRALZ 846 492 711 930 949 843 8.5 -0.3
o =z 77 130 88 77 71 83 0.8 75
o gtodx| ZH] 43 76 52 41 44 48 0.5 11.6
o XHEAt] 53 136 85 51 28 58 0.6 9.1
o 5 T od 244 444 311 240 179 25 25 33
o YG=AlMH]| 186 345 234 181 147 196 2.0 5.4
o 7|E}x{ 2H] 113 159 117 115 107 117 1.2 33
o xtelZo| Xt 59 50 48 83 55 60 0.6 15
o EX|xE 3 5 1 6 1 3 0.0 12.1
0o I8 ZH| 63 18 20 45 113 64 0.6 28
o HixalH| 14 23 25 13 7 14 0.1 1.9
o A ArziE|H]| 39 48 46 45 23 37 0.4 -5.1
o 7|EtH|E 28 89 46 23 17 33 0.3 16.6
~ A 8,196 8,935 8,795 9,061 8,577 8,790 88.6 7.3
NS 895 2320 1,405 789 375 918 9.2 26
X2 2odu| 203 218 198 194 178 191 19 -6.1
EX| 8| 35 37 32 22 17 24 02 | -324
& A 9,329 11,511 10,430 10,067 9,147 9,923 100 6.4

O FH&S A4 (vl
(91 A, %)
T = 20 200}z hT e 1211())on+a| o 7 ks
a . . S b

(a) al ot 20~49 50~99 o[ AL o) (b/a)

o & % ¢ (A 9,387 9,821 9,929 10,269 10,433 10,215 8.8
- k2| S EH| 9,310 9,648 9,801 10,183 10,407 10,135 8.9
- BaEgol 27 57 33 35 12 28 1.0
- 7|E} ¢ 50 116 95 51 14 52 5.3
o Htd|(B) 8,196 8,935 8,795 9,061 8,577 8,790 7.3
o AFRH|(C) 9,329 11,511 10,430 10,067 9,147 9,923 6.4
o & £ (A-B 1,190 886 1,134 1,208 1,856 1,425 197
o & % 2 (A-C) 58 -1,689 -501 202 1,285 292 | 4069

_14_



O &% A4 (AA 100kg3)

(91 A, %)

Al € 7 2 d(21)

T = (2ac)) 200k2] | 0 49 | sp_gg | 100°ERI | B @ | g(bj:';)%
oj gt of &t (b) -
o7t & 115 127 121 143 145 138 | 180 | 199
o Ab B | 380 473 438 400 368 401 | 523 5.4
- EFAR 304 378 337 332 300 323 | 422 6.5
- = AR 49 63 77 47 40 50 6.5 1.6
- TMRALZ 27 32 25 21 28 27 35 0.0
o | 11 16 15 11 9 11 14 | -10
o welx 2| 6 9 7 6 4 6 07 | -12
o AbESAH| 6 16 9 5 3 6 0.8 5.3
o & T 24 46 29 28 15 24 31 | -08
o isAlMy| 20 28 28 20 13 18 24 | -82
o 7IEtA 28| 10 12 10 10 9 10 13 | -24
o XZolxt 8 9 10 9 10 10 13 | 255
o EXYUXE 1 1 1 0 0 0 00 | -333
o Ng=EH| 11 1 11 9 10 10 13 | 45
o Hizxaly| 2 5 3 2 3 3 04 | 289
o Matzals 3 5 5 4 2 3 04 | -88
o 7|Et8| B 2 7 4 3 1 3 04 | 322
= N 600 764 691 647 591 643 | 839 72
INFIE=E] 112 265 158 93 48 108 | 141 | -37
A2 g of| 16 19 17 10 12 14 18 | -11.7
EX| B4 2 2 3 1 1 2 0.2 8.9
g A @ 729 1,051 869 752 652 767 | 100 5.1
S A242)(C) 1 1 2 1 1 1 -5.0
Z8|(A-C) 599 763 689 647 590 642 72
44| (B-C) 728 1,050 867 751 651 766 5.2
ol Al H B (kg) 735 759 731 722 739 739 0.5
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0 %%

AL5H] (vl )

(F%1: 44, %)
AL & 7 2 =H(21)

2 = 2 0ntz foootal | ® = a8
(a) a|at 20~49 50~99 o o) FMu| | (b/a)

o 7t & di 849 962 887 1,030 1,072 1,023 180 | 205
oAb 2 od 2,795 3,593 3,204 2,889 2,717 2,961 52.3 5.9
- BEAE 2,233 2,867 2,461 2,399 2,216 2390 | 422 7.0
- X AL B 363 480 562 339 298 370 6.5 2.1
- TMRALE 200 246 181 151 204 201 35 0.5
o FEady| 82 125 107 78 63 82 14 | -05
o dhoix| ZH| 47 65 52 40 31 41 07 | -115
o RS R 43 119 66 33 21 46 0.8 5.8
o & T 178 348 214 199 108 177 3.1 -0.3
o0 YPimA|AMH| 148 210 207 144 %4 137 24 | -77
o 7|EtM 2H| 72 92 73 69 64 71 13 | -19
o Xl Z 0|} 58 70 76 64 75 73 13 | 261
o EX|YitE 4 7 8 0 1 3 00 | -330
o NSy 78 80 79 65 74 75 13 | -4.1
o Xzl 17 39 22 12 19 22 04 | 295
o MpbmhE|d| 25 36 33 26 15 23 04 | -84
o 7|Et| & 16 55 27 20 10 22 04 | 329
A~ A 4,412 5,801 5,055 4,671 4,365 4753 | 839 7.7
X}7te S| 824 2,014 1,154 670 354 798 14.1 -32
A= 2| 115 145 127 73 91 102 18 | -11.3
EX| 89y 12 19 19 11 11 13 0.2 95
| 5,363 7,979 6,356 5,424 4,820 5,666 100 5.7

O &% F4 (el
(91 A, %)
(=] gi(

T = 20 20ot2] AT 2 E 211())ODFEI =S SeE
(a) al ot 20~49 50~99 o Ak °(b) (b/a)

o & £ ¢ (A 4,789 5,246 5,025 5,221 5,650 5,435 135
- £ zhoj 4,754 5213 4,994 5,196 5,634 5413 13.9
- Bassel 9 10 18 4 8 9 -4.6
- JlEb ¢ 25 23 13 21 8 13 | -479
o 2 dtu|(B) 4,412 5,801 5,055 4,671 4,365 4,753 7.7
o AMRH|(C) 5,363 7,979 6,356 5,424 4,820 5,666 5.7
o & £ (A-B 377 -555 -30 551 1,285 682 80.8
o &= £ 2 (A-C) -574 -2,733 -1,330 -202 830 -231 -
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4., A A

O $-fr A4HH] (1002 )
(91 €, %)

AL 2 =} t.|=_:’ ’
. g 00 = b= ( g:a) —— =o12

(@) o| o 50~69 70~99 o[ AF (b

o Al B H] 46,733 49,085 49,657 50,275 48,016 48,915 55.2 4.7
- STAR 18,202 15,458 16,680 21,427 20,070 19,380 21.9 6.5
- X M E 13,511 9,257 11,825 13,984 15,113 13,680 15.4 1.3

- TMRALZ 15,020 24,370 21,152 14,864 12,833 15,855 17.9 5.6

o T &YH| 1,552 1,769 1,625 1,670 1,518 1,600 1.8 3.1
o AR ZH| 2,143 2,185 2,485 2,427 2,094 2,238 2.5 44
o AtSAHH| 463 757 560 463 415 488 0.6 54
o & T H 4,004 5,372 4,820 4,694 3,595 4,244 4.8 6.0
o FEAlMH| 2,132 2,418 2,154 2,398 1,827 2,081 2.3 24
o 7|EtA =H| 1,098 1,440 1,199 1,120 1,007 1,113 1.3 1.4
o & FE 853 846 838 908 885 880 1.0 3.2
o At FOlAt 1,190 1,410 1,465 1,061 1,279 1,267 1.4 6.5
o EXA= 106 90 101 219 97 126 0.1 18.9
o0 1L ZH| 2,387 582 1,818 2,249 3,002 2,364 2.7 -1.0
o F=Xeld| 399 253 424 524 453 442 0.5 10.8
o bzl 727 829 965 891 649 772 0.9 6.2
o ZpELHZtd| 8,773 8,799 8,939 8,987 8,525 8,726 9.8 -0.5
o 7|EtH| & 334 484 450 420 254 349 0.4 45

2 A K 72,894 76,319 77,500 78,306 73,616 75,605 85.3 3.7

A7t e SH| 10,827 23,826 15,310 12,121 7,607 11,726 13.2 8.3
A= S H| 1,181 1,046 1,085 1,092 954 1,019 1.1 -13.7
EX|E9H| 233 300 270 336 231 270 0.3 15.9
g A B 85,135 101,491 94,165 91,855 82,408 88,620 100 4.1
FLEFRIO) 4,208 4,289 4,889 4,850 3,928 4,325 2.8
4 d8|(A-C) 68,686 72,030 72,611 73,456 69,688 71,280 3.8
4LH|(B-C) 80,927 97,202 89,276 87,005 78,480 84,295 4.2
ol2[FhREN ) 9,392 9,274 9,129 9,080 9,572 9,351 -0.4
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O Az AbSH] (U R)

(el ", %)

g 00 AL B H(21) _ =71z
T = (a) 52'?5' 50~69 70~99 10(5)":; | ’g(b)ﬁ FAH| | (b/a)
o Al 2 H 4,389 4,552 4,533 4,565 4,596 4,574 55.2 4.2
- S3AR 1,710 1,434 1,523 1,946 1,921 1,812 21.9 6.0
-E= M E 1,269 858 1,079 1,270 1,447 1,279 154 0.8
- TMRALZ 1,411 2,260 1,931 1,350 1,208 1,483 179 5.1
o FEAH 146 164 148 152 145 150 1.8 2.7
o grodx| ZH] 201 203 227 220 200 209 25 4.0
o A= %t| 43 70 51 42 40 46 0.6 5.1
o & T d 376 498 440 426 344 397 48 5.5
0 YmAlMH]| 200 224 197 218 175 195 2.3 -2.8
o 7|Efxf ZH] 103 134 109 102 9% 104 1.3 0.9
o & & = 80 78 77 82 85 82 1.0 2.7
o Xl F0|X} 112 131 134 9% 122 119 14 6.0
o EX|YAt= 10 8 9 20 9 12 0.1 18.6
o NSy 224 54 166 204 287 221 2.7 -14
o ELi ey 38 23 39 48 43 41 05 10.1
o AARIE|H| 68 77 88 81 62 72 0.9 5.8
o 7tEAHZHH 824 816 816 816 816 816 9.8 -1.0
o 7|ElH|E 31 45 41 38 24 33 0.4 4.0
A~ A 6,346 7,078 7,075 7,10 7,046 7,070 85.3 33
A}7te S 1,017 2,210 1,398 1,101 728 1,096 132 7.8
ApE 24| 111 97 99 99 91 95 12 | -140
EX 29| 22 28 25 30 22 25 0.3 15.2
3t A 7,996 9,412 8,596 8,340 7,888 8,287 100 36
F) A vhgld ASHE FEld(21.11.~1231) 71tE BYE B Eus A e
O A4 FJA4 (78 )
(S A9, %)
Al 2o
T = 20 500t2] S ( 211())0n+a| =S SeE
(a) ol ar 50~69 70~99 s o) (b/a)
o & % ¢ (A 10,657 10,507 10,542 10,492 10,942 10,721 0.6
- 257 Toj 10,080 9,934 9,839 9,819 10,283 10,063 -0.2
- Bassel 395 398 446 440 376 404 2.3
£ Ofx| Ehoj 376 372 437 419 369 391 3.9
Fd| mhoj 19 26 9 22 7 13 | -297
- 7|t ¢ 182 175 257 233 282 253 39.3
o 2uhH|(B) 6,846 7,078 7,075 7,110 7,046 7,070 33
o AZH|(C) 7,996 9,412 8,596 8,340 7,888 8,287 36
o & 5 (AB 3,811 3,429 3,467 3,382 3,895 3,651 -4.2
o = % 9 (AC 2,661 1,094 1,946 2,152 3,054 2,434 -85
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5. H| &&=

O HIKE A4l (BA 100kgD)
(29 €, %)

A S o 2 E(21)
'20 ZUE
@) 1,000 1,000~ 2,000~ 3,000 o Sgul |
of2|o| gt 1,999 2,999 of2|o| A (b) <

-
Ar

o 7t = 4 58,510 93,117 68,861 59,673 53,150 60,399 20.2 3.2

o At = d| [ 151,164 168,635 161,898 171,575 169,186 168,150 56.4 1.2

o T Y| 4,180 3,832 4,578 4,625 4,402 4,433 1.5 6.1
o x| =H| 8,956 7,462 9,163 9,573 10,322 9,748 3.3 8.8
o AhSAtH| 1,085 2,140 1,348 1,060 1,093 1,216 0.4 12.1
o & 7 H 5,979 8,108 7,157 6,913 5,406 6,335 2.1 6.0
o ATAMH| 6,142 7,366 6,645 7,450 6,301 6,651 22 8.3
o 7|EtA =H| 1,358 1,270 1,795 1,509 1,373 1,471 0.5 8.3
o At =O0lAt 2,462 2,688 2,643 2,489 3,240 2,949 1.0 19.8
o EXAXZ 29 42 4 62 12 22 00 | -24.1
0 NEL-ZH| 11,533 5,967 11,577 10,471 13,823 12,199 4.1 58
o BExXz|d] 8,218 9,548 10,874 8,987 7,445 8,546 29 4.0
o Makzkal| 1,555 1,711 1,833 1,450 1,389 1,511 0.5 -2.8
o 7|EtH|E 1,397 991 1,293 1,490 1,818 1,595 0.5 14.2

2~ AW 262,568 312,877 290,269 287,327 278,960 285,225 95.6 8.6

N =] 8,403 27,260 12,510 8,565 3,388 8,025 2.7 -4.5
At=E A H| 4,091 3,946 3,802 4,072 3,583 3,742 1.3 -85
EX|EHH| 1,347 1,734 1,438 1,280 1,188 1,295 0.4 -3.9

g Al B 276,409 345,817 308,019 301,244 287,119 298,287 100 7.9

FLERUO) 39 28 55 4 47 40 2.6
ZdH|(A-C) | 262,529 312,849 290,214 287,323 278913 285,185 8.6
MLH|(B-C) | 276,370 345,789 307,964 301,240 287,072 208,247 7.9
T AlH S (k) 114 115 114 114 114 114 -0.1
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Q HI{E

A5 (vhelR)

(9 9, %)

AL S 7 2 8(21)
T = 20 1,000 1,000~ 2,000~ 3,000 o SHE
(@) ’ ’ ’ : S = 2Mu| | (b/a)
otz|o| gk 1,999 2,999 otz|of Ak (b)

o 7t & 4| 66,696 106,815 78,240 67,902 60,517 68,770 20.2 3.1
o Al = H 172,312 193,441 183,948 195,235 192,635 191,456 56.4 1.1
o FEaA| 4,765 4,396 5,202 5,263 5,012 5,047 15 59
o HAX| ZH| 10,209 8,560 10,411 10,893 11,753 11,099 3.3 8.7
o AtS K| 1,237 2,455 1,531 1,206 1,244 1,385 0.4 12.0
o & T Hi 6,816 9,300 8,814 7,867 6,155 7,213 2.1 58
o AasAldH| 7,000 8,450 7,550 8,477 7,174 7,573 2.2 8.2
o Z|E}Xf =H| 1,548 1,457 2,039 1,717 1,563 1,675 0.5 8.2
o At FO[A} 2,806 3,083 3,003 2,832 3,689 3,358 1.0 19.7
o EX|UXtE 33 48 4 71 14 25 0.0 —24.2
o 1gLaH| 13,147 6,345 13,154 11,915 15,739 13,890 4.1 5.7
o ExX || 9,368 10,952 12,355 10,226 8,477 9,730 29 3.9
o ‘dikatz|d] 1,773 1,963 2,083 1,650 1,581 1,720 0.5 -3.0
o 7|EHH|E 1,592 1,137 1,469 1,696 2,070 1,816 0.5 141
A~ A 299,302 358,902 329,803 326,950 317,623 324,757 95.6 8.5
INTAE =] 9,579 31,270 14,214 9,746 3,858 9,137 2.7 -4.6
Ap2-gdd| 4,664 4527 4,320 4,634 4,079 4,261 1.3 -8.6
EX| 84| 1,535 1,989 1,634 1,457 1,353 1,474 04 -4.0
g A 315,079 396,688 349,971 342,787 326,913 339,629 100 7.8

0 HIKE F94 (D)

(91 €, %)
AL & 7 2 8H(21)
7 2 ’é()) 1,000 1,000~ | 2,000~ 3,000 o o g(bjc' f
ofz|of gt 1,999 2,999 ofz|of At (b)

o & 7+ ¢ (A 362,028 410,119 404,673 410,138 407,599 407,665 12.6
- H|F=zhoj 358,432 409,251 403,206 408,398 406,306 406,291 134
- 2METY 44 32 63 5 53 45 2.3
- 7|Ef & 3,552 836 1,404 1,735 1,240 1,329 -62.6
o dtd|(B) 299,302 358,902 329,803 326,950 317,623 324,757 8.5
o ALFH|(C) 315,079 396,688 349,971 342,787 326,913 339,629 7.8
o & 5 (A-B) 62,726 51,217 74,870 83,188 89,976 82,908 32.2
o & 7 2 (AQ 46,949 13,431 54,702 67,351 80,686 68,036 449
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(91 €, %)

Ab S R E(21)

. 20 - zus

(a) 20,000 | 20,000~ | 40,000~ | 80,000 BE | oy | b
ot2fol2k | 39999 | 79,999 | mi2lolat (b)

b & v | 1772 3,126 3,179 2,583 2,130 2333 | 213 | 317
Ab 2 o | 5521 6,727 6,745 6,173 6,010 6177 | 563 | 119
A= 162 194 179 170 168 172 1.6 6.2
upod x| 2 b 105 229 185 197 150 165 15 | 57.1
SRR 47 109 76 61 40 49 0.4 43
5 7 ol 482 1,016 870 669 403 504 46 46
o A M| 132 459 243 174 114 146 13 | 106
7| EbAY 2 H] 332 492 357 349 276 304 28 | -84
el Zo| X} 100 200 139 142 77 97 09 | -30
EX| YRR 2 18 3 2 2 3 00 | 500
InE=XE 432 483 542 428 429 443 40 25
2 o2l 58 168 107 77 50 63 0.6 8.6
RPN EIE 33 69 98 28 24 32 03 | -30
7| Etu| 34 45 48 40 61 57 05 | 676
2 A (A 9212 | 13335 | 12771 11,093 9934 | 10545 | 96.1 | 145
K7} S| 312 2,087 771 433 160 316 29 1.3
X2 g of| 58 13 84 44 45 50 05 | -138
EX| g 44 210 138 74 44 62 06 | 409
8 7 B 9626 | 15745 | 13764 | 11644 | 10183 | 10973 | 100 | 140
BAE42)(0) 132 247 133 113 146 145 9.8
ZH|(A-C) 9080 | 13088 | 12638 | 10980 9788 | 10400 145
A4 44 (B-C) 9494 | 15498 | 13631 11,531 10037 | 10828 14.1
7 2HAY ArHH) 297 276 277 290 301 293 12
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O A&A A (uHE]®)
(91 €, %)
AL & 7 2 =H(21)
+ = (2a()> 20,000 | 20,000~ | 40,000~ | 80,000 8| o %(f'f
ot2|o|2k | 39,999 79,999 | ofz|o| At (b) <
o 7t & di 5,258 8,633 8,802 7,491 6,412 6,841 213 | 301
o Ab 2 H| 16,385 18,577 18,676 17,906 18,090 18,117 56.3 10.6
o FEadu| 480 537 495 492 505 503 16 48
o ghoix| 2H| 313 633 513 571 452 483 1.5 54.3
o AHZ At 138 300 209 178 121 143 0.4 36
o & T 1,431 2,805 2,410 1,940 1,213 1,478 46 3.3
0 YPiA|AMH| 390 1,267 673 504 342 428 1.3 9.7
o 7|EtM 2H| 987 1,358 987 1,013 831 893 2.8 -9.5
o XtelF 0|} 297 553 385 413 233 286 0.9 -37
o EX|Yitz 5 49 7 7 7 9 0.0 80.0
o NET-EH| 1,282 1,335 1,502 1,241 1,292 1,299 40 1.3
o E=xa|H| 171 465 297 224 151 185 0.6 8.2
o MpzhE|H| 97 190 270 82 73 93 03 | -4.1
o 7|EtH|E 101 125 132 115 184 167 0.5 65.3
A~ A 27,335 36,827 35,358 32,177 29,906 30,925 96.1 13.1
Ap7te S| 925 5,765 2,134 1,255 481 928 29 0.3
ApE 24| 173 312 232 129 134 148 05 | -145
EX|2%9H| 130 579 382 216 132 181 0.6 39.2
g A 28,563 43,482 38,106 33,777 30,654 32,182 100 127
F) AA vhelg AASHlE BEld(211.1.~1231) 71 B9E 88k A E S
Q 4eHA 4 (vl )
(9 <, %)
_ 00 Ab S 7R -(21) —
T = @) 20,000 20,000~ | 40,000~ 80,000 g 7 (ba)
of2|o| ok 39,999 79,999 otz|o| At (b)
o & = ¢ (A 31,153 50,808 48,100 50,406 52,543 51,813 66.3
- 7| 2t mhoj 30,670 48,755 47,605 49,658 51,936 51,133 66.7
- BaEe 393 682 370 328 440 426 8.4
T o] mhoj 35 47 24 20 40 36 29
H| & Abetuto) 194 479 248 225 263 264 36.1
- iz | 2w o) 164 156 98 83 137 126 | -232
- 7|Ele 9 1,371 125 420 167 254 | 1822
o 2 dtu|(B) 27,335 36,827 35,358 32,177 29,906 30,925 13.1
o AMZH|(C) 28,563 43,482 38,106 33,777 30,654 32,182 12.7
o & £ (A-B 3,818 13,981 12,742 18,229 22,637 20,888 | 447.1
o &= £ 2 (A-C) 2,590 7,326 9,994 16,629 21,889 19,631 658.0
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7. SA

O §A A4k (10kg%)
(91 €, %)

Ab S R E(21)
. 20 - zus
(a) 30,000 | 30,000~ | 50,000~ | 70,000 BE | oy | b
ot2lolBh | 49999 | 69,999 | mizlolat (b)

o7t % d | 2653 2,880 3,001 2,884 2,992 2959 | 225 | 115
o Ab B 8] | 6906 7,558 7,710 7,128 7,449 7422 | 566 75
o Tyl 390 524 468 368 446 434 33 | 113
o uretx| 2| 274 318 302 259 200 286 22 4.4
o AHZAH| 37 88 44 53 28 42 03 | 135
o 5 7 d 318 477 404 403 304 360 27 | 132
o Al M| 394 556 409 405 413 417 32 58
o 7|EfX| 2| 184 182 205 196 186 192 15 43
o xtelZolAt 123 127 110 139 123 125 1.0 16
o EXXZ 10 39 21 5 5 10 0.1 0.0
o DgwEH| 153 9% 139 91 189 147 1.1 | -39
o Exaly| 82 99 54 89 82 79 06 | -37
o Aabpra|y| 26 53 27 31 22 27 0.2 38
o 7|EtH| g 72 48 69 74 85 77 0.6 6.9
2 AW | 11622 | 13045 | 12963 | 12125 | 12616 | 12577 | 958 8.2
K7} S| 496 1,069 715 535 332 506 3.9 20
X2 g of| 37 33 34 34 35 35 03 | -54
EX| gof| 5 8 6 6 5 6 00 | 200
g A® | 12160 | 14155 | 13718 | 12700 | 12988 | 13124 | 100 7.9
BAE42)(0) 2 7 8 0 4 4 100
Zs|(A-C) | 11620 | 13038 | 12955 | 12,125 | 12612 | 12573 8.2
MAHIB-C) | 12158 | 14148 | 13710 | 12700 | 12984 | 13,120 7.9
T Al H S(kg) 1.61 1.71 1.59 167 1.65 1.65 25
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O SA AHH] (1078 B)
(91 €, %)

Ab S o 2 HH(21)
R (Za? 30,000 | 30,000~ | 50,000~ | 70000 | H # " ol
olziojer | 49990 | 6090 | oizlolar | @ | T2 | 0@
o7k & # | 4284 4,924 4,772 4,816 4,937 4870 | 225 | 137
o Ab 2 Hl | 11152 | 12924 | 12258 | 11904 | 12291 | 12216 | 566 | 95
o Sz 630 895 744 615 736 714 | 33 | 133
o iz 28| 443 543 480 433 481 471 22 | 63
o RS A 62 152 70 89 48 69 | 03| 113
o & T 1| 514 816 642 673 502 52 | 27 | 152
o dzAlMH| 636 953 648 675 682 688 | 32 | 82
o 7|E| 28| 296 312 326 327 307 316 15| 68
o Al Zolxt 198 217 175 230 202 205 | 09| 35
o EXAR 16 66 33 9 8 17 | o1 6.3
o IE=EH| 246 164 220 151 311 242 11| -16
o 2=zl 133 169 85 148 135 130 | 06 | -23
o gtz 42 91 42 52 37 45 | 02 | 71
o 7|EH| g 17 82 110 124 140 127 | 06 | 85
A 18769 | 22,308 | 20605 | 20248 | 20817 | 20,702 | 958 | 103
7t S| 801 1,827 1,137 893 548 833 | 39| 40
Rp g o ul 60 56 54 56 59 57 | 03| -50
EX| gou| 8 13 9 9 8 9 | 00| 125
gt A 19639 | 24205 | 21805 | 21,208 | 21432 | 21601 | 100 | 100

O &4 4 (10vtaB)
(91 €, %)

Ab S 2 E(21)
o 20 =it=:
7 = @) 30,000 | 30,000~ | 50,000~ | 70,00 42 | (a
oj2jojet | 49999 | 69999 | of2lo|at (b)

o & %M 20,021 23908 | 21,585 | 22654 | 22,136 | 22250 | 1.1
- 87 oy 19767 | 23610 | 21438 | 22390 | 21,884 | 22014 | 114
- RaEse 3 2 13 0 7 7 | 1333
- 71Et ¢l 251 286 134 264 245 229 | -88
o etH|(B) 18769 | 22308 | 20605 | 20248 | 20817 | 20,702 | 103
o AFRH|(C) 19639 | 24205 | 21805 | 21,208 | 21432 | 21601 | 100
o & 5 (AB) 1,252 1,600 981 2,406 1,319 1548 | 236
o & % o (A0 382 ~297 ~220 1,446 704 649 | 699
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8. H=2 JAAM

olo
. =
= ot =
T % olo — m_lﬁ =~
= | A2 a N ° |
Ewzzz) |z A
BN e - | of o al el oo +
%o 1__/| 1! ) = JI Eo B % ™ oy Py
Slrslzie |3z A = %o x 5
= |2 M| /TR o esol Ho Eb - wm ol - 5 >
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_ 2 J ) X e o ™ ~ | =< R H Ny g o ~ N red gl
Hr < ) =0 | X | w j gl
o ~ P XX <) | oF r = o A N | = X ~
B g o %moﬂl HlR | x| w® oﬂm & | g Mm o | | Gl O - . = ° N
e T L] R @ A A N N e BB e E
— -~ —_ ! 7 _fo,._ a
ifmiE;TTJM;OZ%Q 212l 2T D)
= |7 Ry oA N o Ww Jo W e | T & | Pl lr | B3 o I I
S N || AR _~ 5o | W e o) | of |2y o | M uro| go = N
i - iz Ko N il — —~ pat J — | 3 i
= = o %Nr B | o Tl | T |d b | | L EM i T og | %
i L I do | O ~ | ® e = |- 3 +
— ) 9 —_ -
Tt |F T MBS | EE IR T e e T T |7 RS oY X | ®
mfg?lifommf:@wmm; < 2T |x 5L 5w
~ iy pparit =4 | — | © N 35 = w T M — . -
_mvm mw do| X e =) S| 3 Bk H_/l = | = | o X R iy P:oﬂ — - | " | N Mlm o .ﬂo
> = | M Slw|m | ™ || B 5| |y | ® T do| A = W =
_ZTi ﬁmﬁ MH 1 o ‘“A_l WH\ ﬁo ~ . — ,w.o HT.C ﬂmx o X EO m \Nﬂ o ET _(/\ m On# a
= = o8 NI N —~ N N = < g | — oo | e ey 4 £ 4 <
= TR S | N T N X | = Br
ool IR S I &m Ho | Ho | = oﬂv Dol e = | A |F Wl s | | o | do| = 20
" Ll2lE R TR R il e R g i do
|z 22 |2 I LN TIEIRIREID R
i ;MT "3 < | T |7 = | — _ ~ Y| | %o H? oW | W | N
) — H )
‘ TR wlz| = ||
M| B | Mo < | = | H |0 K| oy % | N o
~3 A= | o Ao B S o JRIR VR S s = | =
< mE | x| | B w| %] = | BE ST R I
= | || e | A 2 | W R Wl odo | o | B
~ ﬂ_Al vai K —
~ N i =

- 26 -



&, A, B 5 FA4Y BN SHE SRS ] 95t
aulE ABst §Ho ALTEAG WGP £ A9))
) $-(100Kg), =-7-(100Kg), -7 (¢), Hl5=(100Kg),

O A&

O FAEANN ARG FF3E H5E ASS) sl avlE Asis
goo] tigk M g7tH o] @

O

O AFFHIA YFHIE AL nl&2] 3
* ok = ARSH] - UF (AR EH] + ARG + B4 gu])

_27_



